After verify each pulse trains the worst case are 20dB bandwidth at 52.4kHz
and the average factor at —10.29dB.

1. 20dB Bandwidth

_ Frequency 20dB Bandwidth
Pulse Train
(MHz) (kHz)
1 433.92 51.6
2 433.92 52.4
3 433.92 49.2
4 433.92 50.4
5 433.92 49.6
Pulse Train 1:
@ *RBW 10 kHz Marker 1 [T1 7]
“VBW 30 kHz 90.91 dBuVv
Ref 97 dBuv “ATt O dB SWT 2.5 ms 433.918400000 MHz
i ndB [TH1 20l 00 dB
| oo BW _51|. 600000000 kHz
/ \ Temp 1| [T1 ndB]
71.03 dBuv
8o 4 433 88840066060 M
Temp 2| [T1 ndB]
. 5}"’ \;2 70.90 dBuv
L — \&\_ A33 040000000 MHAZ
| eo _M"‘”M M
M
l 50
lao
—30
—20
+10
o
Center 433.9188 MHz 20 kHz/ Span 200 kH=z

Comment: 20dB Bandwidth
Date: 14 _0OCT.2009 14:32:20



Pulse Train 2:

“RBW 10 kH=z
“VBW 30 kHz

Marker 1 [T1 7]

88.70 dBuvV

Ref 97 dBuv ~“Att O dB SWT 2.5 ms 433.924000000 MHz
ndB [TAo] 20L 00 dB
| 90 L BW 52| 400000000 kHz
////’ Temp 1| [T1 ndB]
69 .05 dBupv
. ool conanobon
VIEW a
Jf/ Temp 2| [T1 ndB]
Tl/_/J T2 68 .90 dBnv
| 70 ZA33- 944800000 MH
Jf,_Y" B b2
l 60 M
+50
40
| 30
| 20
10
o

Center 433.9236 MHz

Comment: 20dB Bandwidth
Date: 29 _.0CT.2009 08:31:37

Pulse Train 3:

20 kHz/

“RBW 10 kH=z
“VBW 30 kHz

Span 200 kHz

Marker 1 [T1 7]
90.10 dBpv

Re¥ 97 dBuv “ ALt O dB SWT 2.5 ms 433.924000000 MH=z
| ndB [Th] 20l 00 dB
l 90 A 4 BW 49[. 200000000 kH=
Temp 1| [T1 ndB]
70.24 dBuv
| so U DG SR
[V IEW B
—-r/ Temp 2| [T1 ndB]
LI T2 69.93 dBuV
70 NZ
rf/’ \\«“\“ﬂ A33[- 944800000 MHZ
60 Mwﬁ/ AN
Nﬂﬁdevwﬁf«d ﬁwﬁd\vvwv¢h“hw
50
a0
—30
+—20
+10
—O
Center 433.9236 MHz 20 kHz/ Span 200 kHz

Comment: 20dB Bandwidth
Date: 29 _.0CT.2009 08:32:-41



Pulse Train 4:
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Pulse Train 5:
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2. Duty Cycle

Average Factor

Pulse Train Duty Cycle
(dB)
1 0.306 -10.29
2 0.2988 -10.49
3 0.2718 -11.32
4 0.3024 -10.39
5 0.288 -10.81




Pulse Train 1
Duty Cycle = (1.98ms*1+0.9ms*24+0.54ms*13)/100ms = 0.306
Average factor is 20 log 0.306 = -10.29dB
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Pulse Train 2

Duty Cycle = (1.98ms*1+0.9ms*22+0.54ms*15)/100ms = 0.2988
Average factor is 20 log 0.2988 = -10.49dB
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Time slot 2;
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Pulse Train 3

Duty Cycle = (1.98ms*1+0.9ms*22+0.36ms*15)/100ms = 0.2718
Average factor is 20 log 0.2718 = -11.32dB
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Pulse Train 4

Duty Cycle = (1.98ms*1+0.9ms*23+0.54ms*14)/100ms = 0.3024
Average factor is 20 log 0.3024 = -10.39dB
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Pulse Train 5

Duty Cycle = (1.98ms*1+0.9ms*19+0.54ms*18)/100ms = 0.288
Average factor is 20 log 0.288 = -10.81dB
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Time slot 2;
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